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CUnit 1

Bartering(aﬁag,.):: An Old Idea with New Power

Although trade is nothing new, the use of money is relatively new. when it is
seen in relation to the length of time trade has been conducted. How was»_' trade
conducted, then, without money to pay for goods" o

The answer is by bartering. Bartering is the process(xi#:.) by whlch trade takes
place threugh the exchange of goods. Money is. not used as payment Instead one
good is traded for another good. 2

Recently, because of 1nﬂatlon(1ﬁﬁ"ﬁi}ﬂﬁ) and the dlﬂ’erences between types of
currency (% fi) around the world, bartering has become an 1mportant form of trade
again, ‘ ) S L

It seems that Pepsil-Cola was' the first company to introduce cola into the USSR.
much to the disappointment (% %) of Coca-Cola. Pepsi was able to do this because
it was willing to barter Pepsi-Cola for Russian volka. The Americans sent one
gallon(#=4¢) of concentrated (K 5 #) Pepsi. Liquid in exchange for one gallon of
vodka, on a gallon-for-gallon basis. Supposedly, the Russian people are now enJoymg
the quality of Pepsi while Americans are pouring top -quality Russian vodka. Both
parties to the contract(&F]) appear to be quite satisfied with the barter deal. .

Of. course, bartering has some great problems that are not always easy to over-
come. Finding a market(73%) for the bartered goods can be a problem, as the
following example shows. ' ‘

A Western European auto maker traded 100 automoblles to an Eastern European
country in exchange for a certain amount of dried . aprlcots(é-f‘JL) The Western
company ‘was unable to sell the apncots, so they were served in the company’s
dining hall until the workers refused to eat any more dried apricots. What happened
to the remainder of the’ aprlcots is not known! - '. B

It is ‘unlikely that the world w1ll go back to a totally bartermg exxstence, but
until the economic disorder that is present in today’s world is cured, bartering will
probably become more and more important as an exchange form, L
. ’ (314 words)

Comprehension Exercises i

1. Trade is
A) the same as barter
B) exchanging ‘good for other goods
C) exchanging things with money
D) exchanging things with or without money.
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2. Bartering is conducted through the exchange
A) of goods for money. B) of money for goods.
C) of money for money. D) of goods for goods.
3. It is implied in the passage that bartering, as a form of trade, began to appear
A) before money was invented.
B) after money was invented.
C) at the same time that moncy was invented.
D) when money was no longer used.
4. In modern times, we find that
A) bartering has replaced money in international trade.
~B) some trade still occurs through bartering.
. C) bartering only occurs between. less developed nations.
D) Eastern European countries have disclosed their bartering deals.
S. Bartering is becoming more frequent because the world economy
A) is in a good s1tuat10n L : B) is developing rapidly.
"C) is still in disorder. o "' D) is looking up.
6. Peps1-Cola was the first company to introduce cola into USSR because
~ A) the Russian people liked the taste of ‘Pepsi.
B) the Americans needed Russian vodka badly.
C) Pepsi was willing to exchange cola for vodka.
D) Pepsi concentrated their Pepsr quuxd '
7. The Western Company, as mentioned m paragraph 6, was unable to sell the dl‘led
‘apricots because
A) they were served to the workers as, food
B) the company didn’t want to.
C) the company couldn’t find a market.
D) the workers couldn’t eat all of them.
8. The examples of bartering in the passage show that
A) people all over the world prefer bartenng to other forms of trade.
" B) all the barter deals will benefit the ‘two parties.
C) all the barter deals will benefit one party and harm the other.
D) though bartering is becoming an important form of trade, sometimes it may
“raise difficult problems. f
9. According to the passage, we can sec that
A) bartering was, for a time, not so important as now.
B) 'bartering has always been an important form of trade.
C) the world may someday again conduct trade only by bartering.
D) bartering has only a very short history.
10. What does “this” in paragraph 4 refer to?
A) The disappointment of Coca-Cola.
B) Being the first company to 1ntroduce cola into the USSR
C) Bartering Pepsi-Cola for Russian vodka

D) The contract.

2—1-—IB




Unii 2

Economic(gisay) Growth and the Food Crisis(g#)

. Advances in technology have helped more of the world’s population live better
and longer — and that’s part of our problem.

Better health standards have kept larger numbers of people alive. The world’s
population has reached five billion and is expected to increase by 60% in twenty-five
years. The growing population and slowly rising living standards have increased our
need for food at the rate of 30 million tons per _year. As a result, the world’s
reserves(f5 &) of food is declining( TH) by about 10 million tons per year. .

From the early 1950s until 1972, world food production inereased greatly because
of the Green Revolution: which- extended(# k) scientific techniques to agriculture.
But crop failures in 1972, brought aniend to the growth in.food progduction. . And it
is expected that the drop in,world supplies of fertilizers(f&#) ~will cause a drop in
crop production in the future, especially in the underdeveloped nations.

What can be done? At present, there is a worldwide total of 4.3 billion acres
(%w) of land that might be turned into farmlands. But it will cost too much. Neéw
foods from the sea are also a possibility, but this is limited by pollution.

However, policy on the problem of food production must eventually deal w1th
the problem of population growth. It is estimated(443}) that one-third of the world’s
population live in the hungry nations — nations unable to feed themselves. These
nations are centered in Asia and Africa. According to some economists, those who
can not survive(:£ & TF3) without aid will be left to perish(Xc). We may not
like it, but that’s the way the world is. '

We continue to hope for a more acceptable solutlon to the food crisis. - However,
this will require the best efforts of scientists, sociologists(it4-% %) and economists

for many years to come,.
(296 words)

Comprehension Exercises

1. Given the present growth rate of the world’s population and our ability to
produce food, '
A) hquer will be unknown in the future, .
B) the food problem would be partly solved in the. near future.
C) the _developed nations will change their eating habits. ,,,»
D) we w111 be faced with very serious problems m the near future.
2, According to the passage, in twenty-five years .the world’s population is expected

2==2-=1A



10.

to be

A) 6 billion. B) 7 billion.

C) 8 billion. ~_D) 9 billion.

The term “Green Revolution” refers to

A) the political situation in Ireland.

B) the increased use of scientific methods 1n agnculture.

C) the revolution in a certain nation. AR

D) the crop shortages experienced in 1972,

The world’s reserves of food is declining because

A) the world’s food production has decreased: greatly and contmuously.

B) the Green Revolution has failed.

C) the growing population’ “has created a greater need than food productmﬁ tan
supply. : :

D) farmlands have been reduced.

It is expected that erop yields w1ll drop, especxally in underdevd\lopcd nahons,

mainly because of :

A) terrible weather. ' - : ' B) poor farm management.-

C) fertilizer shortuges. = D) old farming eqmpment

The main difficulty in ‘increasing the world’s farmlands is

A) its high cost. = . -~ B) shortage of manpower. 2
C) risfng Ievels of pollution. a ‘D) the unwillingness of people to farm

One possible way: the writer suggests to solve the food problem is

A) to carry on the Green ReVOlutlon on a larger scale.

B) ‘to obtain food from the sea.

C) to improve .farming methods. :

D) to control population and make the growth‘ratc slow down.

According to some economists, many nations in ' Asxa and Africa would become

perished if they - o . Co -

A) live only on foreign aid. ' T

B) do.not farm' more land:

C) don’t have a_ correct policy on the problem of food production.

D) are unable to feed themselves. :

The writer would likely agree with which one of the following statements?

A) In the futuré it will most likely be possible .to provide everyone with enough
food. 4 . ) ) .

B) If the weather could be contrblled, the food supply problem would no
longer exist. -

C) In the futurc it is unlikely that every country will be able to produce enough
food for survival. .

D) Scientists will surely - fmd out’ the best solutlon to the food problem

The last pardgraph of this passage was written tg emphasue the writer’s

A) great hope for the future. B) hummous v1ewpomt (A% ).

C) distaste for the world’s i;pdr. _ D) doubts about easy 9olutlons

-
- B

2—2—I1B



Hobbies

- A hobby can be almost anything a person likes. to do in his .spare time.
Hobbyists raise animals, build model ships, weave( % #.) baskets, or carve(At %))
soap figures. They watch birds, hunt animals, climb mountains, raise flowers, fish,
ski, sk:;ltcx and swim. Hobbyists also paint pictures, attend concerts and plays, and
perform on musical instruments. They collect everything from books to butterflies
(#3%) and from shells to stamps.

People take up hobbies because. these activities. offer enjoyment, friendship, know-
ledge, apd relaxation (3¢4). Sometimes they even bring money. Hobbies help people
relax afier periods of hard work, and provides a balance (-F-#7) between work and
play. Hobbies also offer interesting activities for persons who. have retited(ik4k).
Anyone, rich or poor, old or. young, sick - or. well,.-can follow ;a satisfying hobby,
regardless of his age, position, or income. |

Hobbies can help a person’s mental and physical health. Doctors have-found that
hobbies are valuable in helping patients recover from physical or mental illness.
Hobbies give bedridden(BMAR T AC#)) or wheelchair patients something to do, and
provide interests that keep them from thinking about themselves. Many hospitals treat
patients by having them take up interesting hobbies or pastimes(¥&fR).

People today. have more time than ever before for hobbies. Machines :nd
automation have reduced the amount of time they must spend on their jobs. Hobbies
provide variety for workers who do the same monotonous{¥ iF4j) tasks all day long.
More pecple are retiring than ever before, and at an earlier age. Those who have
developed hobbies never need to worry about what to do with their newly-found
leisure hours. o

Sir William Osler, a famous Canadian doctor, expressed the value of hobbies by
saying. “No man is really -happy or safe without a hobby.” (281 words)

. Comprehension. Exercises
1. The main idea of paragraph one is" '
A) hobbies are activities enjoyed by people in their s"paré time.
B) hobbies vary in interest and enjoyment for different people.
C) people should take up several hobbies at a time.’
D) some hobbies are more interesting than others.

2. The term “figure” used in paragraph one means

2—3—1A



10.

A) a number. B) shape of a human body.

C) a diagram. D) a bird.

According to the article, which of the following is NOT a hobby?

A) Collecting beetles. B) Playing table tennis,

C) Smoking after meal. D) Theatre-going.

Hobbyists usually take up hobbies because these activities

A) fill up their spare time. B) make them happy and healthy.
C) make them wealthy. » D) all of the above.

Which of the following statements is NOT true.

A) One takes up a hobby without regard to his age, position or income.
B) Hobbies give variety to one’s life.

C) There are various hobbies from which any one can find a satisfying one.
D) More people develop hobbies now than before.

The word “they” in line 2 of paragraph 2 refers to

A) people, '

B) these activities.

C) enjoyment, friendship, knowledge and relaxation,

D.) all of the above.

Hobbies

A) can give people longer periods of relaxation.

B) offer relaxation for the retired persons after periods of hard work,
C) can be used as a medical treatment

D) will provide people more play and less work.

In what way can hobbies help a patient mentally and physically?
A) They give him enough exercise.

B) They bring him enough money.

C) They keep him interested in being in hospital. .

own trouble,

According to the Canadian doctor.

. A) many people have almost the same outside interests,

B) no man is now living really happily and safely.

C) things‘would be different if a person had hobbies.

D) a person should have hobbies one at a time.

It can be inferred from the article that -

A) in the past p_ec;ple had to spend more tinie on their jobs.
B) people in the past retired at an éax}ier age'_ than now.

C) only rich people can afford hobbies;_ 7

D) hobbies are usually pursued inside people’s houses.

2—3—IB
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Unit 4

A Man of Few Words

Calvin Coolidge ( 1872~1933 ) was the thirticth president of the United States. He
tooked down on a person as being unworthy of respect who was too fond(&sk) of
talking about the details of other people’s actions and private lives; he had no time for
small talk. The following two incidents clearly show how Coolidge treasured silence.

When he was vice-pcesident(# % ét), Coolidge had plenty -of opportunity to
participate in Washington’s social life, especially the many dinner parties. Because of
his complete disregard(GE41) for the art of conversation, he couldn’t exactly ‘make
himself dear to his hostesses(4 i A). One lady felt she could solve this problem.
She placed him next to Alice Roosevelt Longworth, daughter of former President
Theodore Roosevelt. Mrs. Longworth, brilliant conversationalist, began to talk in her
usual charming(i% A #j) manner, but-all attempts($£iX). to awake interest on the part. of
vice-president were unproductive. Finally, being shamed into annoyance (1{1%), she said,
“Pm sure that going to as many dinners as you do, you must get terribly bored. ”

‘Without lifting his eyes from his plate, Cooltdge said not very clearly,  “Well, a
man has to eat somewhere. * ‘ | '

Later, when he was president and once again at a dinner party, Coolidge was seated
next to an outstanding society woman, one of those people who seem to take delight
in trying to change the lives of everyone they meet. “Oh, Mr. ‘Prestdent,” .she spoke
with too much enthusiasm(#H#), “you are always so quiet. I made a bet(iTh )
today that I could get more than two words out of you.” ' o

In anger, the president made a low, rough sound and then said, “You lose. »
(264 words )

Comprehension Exercises

1, President Coolidge considered those people as being unworth’y of respect
A) who liked to talk about the affairs of others,

B) who never talked about anything serious.
C) who spoke insincerely.
D) who talked much but did little.

2. To Calvin Coolidge
A) fame B) power

—was very dear.

2—4—1A



C) communication D) silence
3. Why didn’t the hostesses like Calvin Coolidge?
A) He paid no attention to the skills of conversation,
B) He treated women coldly.
C) He was too serious to please women,
D) He often put his hostésses in a yery difficult pesition,

4, The word “conversationalist” refers to

AY a reporter.” = . ‘ . .. B).a spokesman. e

C) a talker. - o - _.D) a teller. ’
.5, The word “unproductive” in paragraph 2 is similar in meaning to-

.A) “undesitable.” : .. . - BX “coming to nothing,”

C)- “unthinkable,” ~ I * -, D) “unfavourable,”
-6, Mrs. Long\'éorﬂl'wasv annhoyed because - SRR
A)the vicé-president didn’t..even lift his:eyes from his plate. S
i B) the vice—president didn’t speaki-clearly.
i €) the v1ce—prcsldem took part.in sosmany-dinner parties, .
D) all effoms she made to awake the:vice-president’s intetest had failed.
.7. The -second - woman; mentioned in. this passage,. sitting next to . President Coolidge,
“wds a pepson: . s s L. Sooepte B R T LRI T -
“A) who had: & great interest in ‘the pohtwal life of the. presadent.
B) who:was always: sticking -her nose into matters-that were no concern df hers.
C) who considered it a pleasure to make fun of others.: . v & . o v =

D) whoteok' too much interest in the private lives of every man she met, -

8. What is meant. by “take delight-in”? _ ., L . :
‘A) To arousg:.imtereést in, , o+ B) Te. get much benefit from, . .
¢ €) To rective great pleasure from. D) To take advantage. of.
9. A society woman belongs to - ot Lo ’
A) the middle class.., - L .. B) the upper class,
C) an organization in society D) low ranks,

10, The story shows that President Coolidge
A) was a man of few words, but with humour,
B) was bad-tempered, but very polite to women,
C) was always quiet, and had no, sense of humour, - . .-
D) was often silent becausec he hated people changing hls prwate hfe.

~
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Unit 5

The Green Banana

- I met with the green banana on a mountain road, I was driving my car When
the radiator (44 %) began to leak, ten miles from the nearest mechanic (LRI ) .
The over-heated engine forced me to stop at a village. People gathered to laok. “That’s
casy to repair,” a man said., He sent & boy‘runﬁfﬁg for some green bananas, “Green
bananas,” he smiled, Everyone agreed, '+ - . - S N

Asking questions would show my ignorance (% 4= ), so I rematked ( i}:ﬂ’ Jon the
beauty of the mountains. “Do you see that tall rock over there?” the man asked me.
“It marks the center of the world.” I looked to see if he was joking, but his face was
serious, “The center of the world?” I repeated, trying to show interest, He . nadded.
“The absolute(#2%} %) center. Everyone around here knows it.”

At that moment, the boy returned with my green bananas. The man cut one in
half and pressed the cut end against the radiator; The banana melted: into a .glue
against the hot metal, stépping up ‘the leak immediately, ' Everyone: laughed at my
astoniishment. : ‘ : : .

After I reached my destination ( B 6‘53&.) the local mechanic smiled. “Who taught
you about the green banana?” I named the village. “Did they shew .you the rock
marking the center of the world?” he asked. I said they had. “My grandfather came
from there,” he said. “The exact center.”

As a product of Ametican hlgher education, I had never paid the slightest attention
to the green banana, except to regard it as a fruit. But the people in that village could
use it for other purposes. . .

The importance of the rock to'ok me a while to understand., Gradually, I realized
that they had a belief, a universal concept ( #4 ) . We tend to consider the center of
the world as that special place which we know and care about: family, school, town, and
local region. Every place represents the center of the world,

The cultures of the world are full of unexpected green bananas with special value
and meaning, - . S : ( 331 words)

Comprehension Exercises

1. The main idea of the passage is to -
A) introduce an unusual method to repair the car.

2==5—1A



9.

10.

B) point out that all people see the world through their own cultural beliefs.

C) illustrate (4#£.70) that people in underdeveloped places do things in crude ways.
D) describe a car accident happening on a mountain road.

What happened to the writer’s car?

A) Its engine had gone wrong. B) The car ran out of gasoline.

C) The radiator leaked. L D) The car could not be started.

Where did the writer seek () assitsance when his car had a mechanical trouble?
A) From a mechanic, * . B) From, a car-driver who happened to pass by.
C) At the nearby town. D) In a viHage.

The people in the village were

A) helpful. , B) unfriendly.

C) imaginative. D) surprised,:

“I looked to see if he was joking, but his face was serious.” This means that
A) the writer would like to hear some more jokes.

B) the writer intended to ask some more guestions..

C) the wrjter.didn’t want to show his ignorance.

D) the writer doubted whether the man really meant what he said.

“I. named the viilage” -means oo « , S

A) I gave a name-to the village.- B) I told the name of the village.

C) I gave my name to the yvillagers. D) I knew the name of the village.
From the mechanic’s talk about the rock, we can infer(f#7) that the mechanic
A) agreed, with the -villagers, B) disagreed with the villagers.
C).thought differently. D) didn’t trust the belief of the villagers.

. The villagers laughted,at the writer’s astonishment because -

A) they were proud of their technique of repairing the car.

B) they thought that the writer should not have felt surprized.

C) they were happy that they could tedeh the stranger -something. -

D) they were making fun of him.

From his experience, the writer learnt that

iA) green bananas could be used in an unexpected way.

B)- the green banana tasted quite good

C) people in the village must grow a lot of bananas and they did almost every-
thing with them. - , .

D) the villagers must have used green bananas to repair cars many times.

The center of the world is located

A) in the small village the writer happened to stop in,

B) in a place other than the small village.

C) in every place which has a special meaning for the pebple in it.

D) in some place which remains to be r.ecoginzed_

2—5—1B



Unit 6

Performing to Meet the Challenge (4t ) of Change

In 1873, a boy was born in a farm house on the central -Nebraska plains ( F/& ).
His name was Frank Phillips. It is his name that is proudly borne today by one of
the world’s greatest companies: Phillips Petroleum (G ).

As a farm boy, Frank Phillips dug potatoes for ten -cents a day. At 14, he began
work in a barbershop (s X /&), saving his money. In his 20s, he bought the barbershop,
and soon he owned two more, /

Fired ( /5 ) by reports of the Oklahoma oil discovery, Frank and his brother
went down to Bartleville, drilled three dry wells, and tried one last time. Black gold
poured out sky~high! Eighty more times they drilled, and hit 80 ‘more wells. ‘In 1917,
they organized the Phillips Petroleum ‘Company. * : Lo

Ten years later, Uncle Frank, as everyone called him, expanded ( 3 & )into"the
gasoline ( ;% ) business. Big -orange-and-black { now red-and-white ) sxgns bearmg
the company’s symbol, “66”, rose above Phillips filling stations. AT

Why “66”? While the company was arguing about what to call the new fuel, an
official and a driver were road-testing it on Highway 66. ‘““This car goés like 60 on
our gas,” the official said satisfactorily. “Sixty nothing,” exclaimed ¢ X # % ) the
driver. “We’re doing 66!” Driving 66 miles an hour on Highway 66 '— it scemed no
other names could be better.

Those were the exciting, de-or-die beginnings — the first decades of Phillips, a
company that has always been growing, surviving hard times. Now it owns more
U.S. patents ( %] ) than any other oil company. Today, Phillips is concerned with
the improvement of life through other channels as well: the arts, humanities(A X 3 4}),
youth athletics. It’s been national sponsor of U.S. Swimming since 1973, of U.S.
Diving since 1979. In 1976, it began free loans ( £ % ) of educational films to the
nation’s schools — the most popular, widely studied such films ever produced.

(320 words)

Comprehension Exercises

1. Frank Phillips was born
A) in the U.S. : B) in Holland.
C) in Central America. D) in one of the world’s greatest companies.

2=6—1A



. Frank earned ten cents a day by

A) selling potatoes. B) working in a barbershop.

C) digging potatoes on a farm. D) saving money.

When Phillips was in his 20’s

A) he owned 2 barbershops . = - B) he began yv.ork‘ in a barbershop.

C) he was the owner of '3 barbershops. D) he began his petroleum business.

- Frank and his brother
. A) were fired by the Oklahoma Oil Company

B) were inspired by the prosperity of .oil business in Oklahoma

C) went to Bartlesville because their barbershops were destroyed by fire

D) heard reports that there was a fire in- Oklahoma.

. In Bartlesville, Frank and his brother

A) drilled four wells, but pone of them had oil.
B) were surprised at the gold they found when making the last try

C) drilled more than 80 wells before oil was finally found.

D) found oil when they tried the fourth well.

Yy

6. Which of the following statements is true?

9.

10.

A) The wells they drilled did not have enough o;l pressure. | )

B) Since Frank and his brother first found .ol they ‘had dnued many wells,

-most of them. containing oil. a -

C) Frank and his prother did not find 011 until 1917u ' ‘

D) Frank and his, brother were lucky — after the first sueccess they drilled
_ another 80 wells and oil came out of each of them.

3

. A filling station is a place where

A) you can fuel your car. R B) .the road testing is conducted.
- C) oil is refined. D) ol wells are drilled.

“66” -is o L e )

A) the company. symbol .-, 4. B) the fuel name.

C) the filling station.. - .. - D) a red-and-white sign.

The Phillips company , ,
A) has been developing without experiencing any hardshxp

. B) also makes films,

C) is mainly engaged in oil business.

D) is interested in many areas except petroleum.

In 1976 the Phillips company .

A) began to produce educational filins by itself.

B) began to loan money to the nation’s schools.
C) became the national sponsor of U.S. Swimming.

" D) began .to ptovide free eductionl films to the nation’s'schools - EE
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Unit 7

" About Television

TELEVISION, which made its first serious appearance in 1939 did not become com-
mon until the early 1950s. Since then mi’lhons of children have grown up in Tront
of the set, and many people now Worry abbut the eifect that TV has on the young,
and on society in general. = R b '

Like almost anything else," teleV1smn has its good and’ its bad sxdes ‘One should
surely thank its inventors for the Joy anﬁ the interest that they have brough’t into the
lives of the old, the sick, and the- Mmely-—all those who, wuhout it, Wou’ld have no
pleasure and no window on the world. IR o

In truth, television has opened w1naows in everybodys hfe No neWspaper has
ever reached so many people and shown so clearly what was happemng right now ih
their own country and everywhere else. TV has transformed 1nformat10n, it not only
gives the news instantly, it also shows it in pictures—more powerful than words.
Television has also transformed politics. The most remote-farmer can now follow poli-
tical 1ssues(15]ﬁ) . o R : s

Unfortunately, television’s influence has been extremely harmful to”° the young.
Children do not have enough experience to realize that TV shows present an -unreal
world; that commercials ( 'ﬁ:lkf' 4 Y lie in order to sell products that are sometlmes
bad or useless. They believe and want to 1m1tate(#i‘!7i) what they see. They do believe
that they will make more friends if they use a ceriain soap—or some other product.
They do believe that the violence(& /1) they see is normal and acceptable

According to some experts,- the. young are also less patlent Used to TV shows,
where everything is quick and -.entert,ammg, they expect all vprob_lems, to be solved
happily in ten, fifteen, or thirty minutes. That’s the time it takes on the screen,

It is certain that television h‘aS'deeply transformed our lives and our sSociety. 1t
is certain that, along with its bénefits(& %), it has brought enormous problems. To
these problems we must soon find a solution because*—whether we hke it or not—
television is here to stay. '

(340 words)

Comprehension Exercises

1. According to the article, telévision became common
A) in 1939 -'
B) 40 yeats after ils first serious appearance.
C) in the early 195()s ‘
D) about 70 years ago,
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5  “Millions of children have grown up in front of the set” suggests
A) parents have used television to teach their children.
B) children were born in front of television.
C) television is the only one to take care of the children at home,
D) children have spent too much time watching television.
3. By saying that television has opened windows in everybody’s life, the author means
that o '
A) many people -have television at home. )
B). people get well—mformed of the world’s events by television.
C) television extends everyones vision and expands h1s mind.
D) television has good effects on the society.
4. Why does the author say T.V. is better than newspapers?
A) T.V. has more audience than any newspaper does.
B) T.V. shows news in pictures.
C) T. V. has more powerful words than newspaper
D) Both A) and B).
5. People should surely thank the T. V. inventors because
~A) they were the pioneers.
B) they have helped the parents to bring up their children.
C) T.V. has become common nowadays.
D) they have brought us joy and interest.
6. Why does the author say that T.V. has been extremely harmful to children?
A) T.V. will: burt-children’s eyes.
-B) Children have spent too much time watchmg T. V. at home.
C) The inexperienced children are often misled by T.V,
- D) Many people Worry about the effects of T. V. on chijldren.
7. The author mentxoned the most remote farmer in the artrcle, because he wanted
to show that
A) T.V. has’ transformed pohtlcs.
B) T.V. is better ‘than nRéwspapers.. R
C) even the most remote farmers have T. V. at home
D) T. V. should continue to exist.
8. According to some experts, the young are less patient because
A) they want to see more on T. V. .-
B) they expect everything to be solved as qurckly as that on T.V. ,
C) they are inexperienced,
D) they want to be entertained more.
9, Which of the following statements is NOT true?
A) T. V. entertains people.
B) T.V. makes the lonely closer to the world.
C) T.V. has transformed information quickly.
D) T.V. has brought us many problems . that can’t be solved.
10. What the author.mainly suggests in the article is that
A) many people are worried about the effects that T.V. has on themselves.
B) T.V. should be abolished soon.
C) Great attention should be paid to the effects T. V. has on the young
x D) T.V, has more advantages than disadvantages.
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